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Chapter 08 A5-2A]

8.1

Command Window

*Fogyms all al2 a2l 222 b1l b12 b21 b22:

== 0 = [all alZ;a2l az22];
*> B = [b11 b12;b21 b22]:
*>»>C=A+B

C =

[ all + bl1, al2 + b12]

[ a2l + bZ1, a22 + b2Z2]

»= 0 = A+B

0=

[ all«bl1 + al2«b21, all+b12 + al2+b22]
[ a2l+bl1 + a22«b21, a21+b12 + a22+bh22]

8.2

Command Window

FrOSWNE MOV

> f = w6 - 1;
g = w3+ 1
rho= w2 - 1;
¥ p = (f/9)+h

p=
((x™6 = 10«(y"2 = 123/(x"3 + 1)
> pretty(p)

G 2
fw - 1) (y -1




8.3

Command Window

*osyms a b cowow:
*x f = asx™2 - by o+

=g
q =
asy"2 — bry + ¢

»> g_value = subs(a, [v abcl.[32 -1 4]
g_value =

25

subs(f,x,v)

8.4

Command Window

»Fosvms v k B0 real:

»» E_y = E0vexpi-j+k+y)+[0 0 1]
E_w =

[ O, 0, Ed*expl-k+y+1i]]

> pretty(E_y)

(0, 0, ED expl-k v 1i))

8.5

Command Window

FrOSVWMES B W

b o= (-2l (u+le w240+ (0 2+ 41 (4" 2-0) ;
=g = v"8 - A+y™d + 400;

»» E = expand(f)

E =

278 - A=x"d + 400

== F = factor(g)

F =

[ v -2, v+ 2, v2+5 v2+d -5




8.6

Command Window

Fr OSYMS K

Frof o= 2er™2 - Few o+ 1103 ¢ Zert2 - Sew - 18):
> pretty(factorif))

/ 1 1 1T #

| 2w -1, x-1, . . |

# -3 w+ 3 w2/

> pretty(partfrac(f))
1 3 14

I -3 w+2 3F(x+3

8.7

Command Window

> SYNS K Y Z:

¥ 0= [10sxy™2ez, | Den" Beysz, Ben ey 2] ;

== odivD = diff(D01),w) + diff (D2, y) + diff(D(3),=2)
divD =

10ez+x"2 + 10+z+y™2

> subs(divD, {x, v, 2k, 11,1, 1F)

ans =

20

8.8

Command Window

= syms rho phi z:

*» 0 = [rho*z+sin(phi), -rho*z+cos(phi), 2+rho*2+sin(phil];

> divD = (1/rhod+diffirho+D(1), rho) + {1 /rho)+diff(Di{2),phi) + diff{D(3),z2)
divD =

Frz+sin(phil

=» subs(divD,{rho,phi,zF, 12,680+ (pi/180),-1})

ang =

—-(3+3~(1/2))/2




8.9

Command Window

2
2
2
2
2
2
2

SYMS ¥ ¥ Z;
F o= [Beuwysrz, w24z, u"2ey] ;

Pathl = subs(F{1),{v. 2}, 10.00);
[Pathl = int{Pathl,«.0,2);:
PathZ = subs(F(2),{x.z}.{2.00);

[PathZ? = int{Path2,v.0,-1);
Path3 = subs(F(3),{x, v {2.-1});

= |Path3 = int{Path3.z.0,4);
*» Linelnt = IPathl + [PathZ2 + [Path3
Linelnt =
-16
8.10

Command Window

= ogyms vit);

> 0 = dsolve(diffiy,1)
D:

Cl#expit) - B

s> LD = laplace(D)

LD =

::3,!+EII

Clils - 1) - B/s
8.11

Command Window
FF oS¥MS 5 T3
= H_s = (Pesel ) (s (5" 2+ Pe5+100);
= % t = ilaplace(¥_s):
=2 epzplotix_t, [0 15 -0.1 0.5]);
*» grid on:




ezplot 35 o83t A|ZF <<

s MEE x(t) e aYzE a9y, ol
A7 MEE S AR @
File Edit WView Insert Tools Deskiop Window Help k]
UDdde @ 0E|KE
05 1/10 - (exp(-t) (cos(3 t) - (19 sin(3 t))/3))/10
I
|
0.4 '|| I| B
|
I
D.3‘l || 1
|
0.2% || |
|
|
0.1} || /\L//
III |
of 4/ |
0.1 : .
0 5 10 15
t
8.12
| EzPm | + |
I —  syms v t: =
g - hald on:
3 - far & = -3:3
d - ezplot {2y 3-3+y"2 == et 2+624)
L end
B - grid on:
~AYE ¥

EzPE W@l ddshd a3t 22 292E vt

i



File Edit View Insert Tools Desktop Window Help

Dode 2|08 &[E

2y3-3y2==3¢+18

8.13

Command Window

FFoS5¥MS 5 L:
> gzsurfi@+cos(s)+sin(t),B+sin(s)+sin(t), S+cos(t))

File Edit View Insert Tools Deskiop Window Help
Dede 208 KE

x = 2 cos(s) sin(t), y = 6 sin(s) sin(t), z= 3 cos(t)
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